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Paper: 1MA1/1H 
Question Answer Mark Mark scheme Additional guidance 

20 (a) graph C2 for a translation of the graph by the vector ቀ−1
−3

ቁ Condone graph of y = f(–x) also being drawn on 
the grid 

(C1 for a translation of the graph by the vector ቀ−1
𝑏

ቁ  where b ≠ – 3 or 

ቀ
𝑎

−3
ቁ   where a ≠ – 1 

or for a translation by the vector ቀ−1
−3

ቁ of 3 or 4 critical points) 

Correct vector gets 1 mark 

(b) 2, 1 B1 cao 
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Paper: 1MA1/3H 

Question Answer Mark Mark scheme Additional guidance 
23 (a) Sketch B1 for appropriate sketch which crosses the x axis at (‒3, 0), (‒1, 0), (0, 0) and 

passes through (‒2, 2) with end points in the correct square 

Allow some tolerance on the points and in drawing 

the curve if the intention is clear 

(b) y = ‒g(x) B1 oe Accept ‒y = g(x) 
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